SDQL MASTERs Exam 1-5

1. What is the highest third down conversion
percentage a team has achieved in the history of the
database?

a) 75%

b) 84%

¢) 92%

d) 95%

e) 100%

2. What is the highest completion percentage a team
has achieved in the history of the database?

a) 76%

b) 82%

c) 88%

d) 95%

e)100%
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3. In a game in which a team rushed the ball at least
30 times, what is the highest average yards per rush
in the history of the database?

a)9.2

b)11.0

c) 132

d)15.3

e) 174

4. In the history of the database there has only been
one occurrence of a divisional opponent shutting out
a divisional foe twice in the same season. Name the
victor and the victim.

a) Falcons over the Panthers

b) Bears over the Lions

¢) Patriots over the Bills

d) Saints over the Buccaneers

e) Cardinals over the Rams

5. In the history of the database, there is only one
game in which a team had four separate “first down
and goal to go,” but scored fewer than ten points.
Name the team that accomplished this.

a) Browns

b) Bengals

¢) Redskins

d) Lions

e) Falcons

Answers on-line at:

6. In the history of the database, there is only one
team that played five overtime games in a single
season - four were during the regular season and one
in the playoffs. Name this hard-working squad.

a) Panthers

b) Vikings

¢) Saints

d) Colts

e) Seahawks

7. In the history of the database, the Oakland
Raiders hold the record for the number of straight
games within the same season in which they
committed at least three turnovers. How many
games?

a)6

b) 7

c)8

d)9

e) 10

8. In the history of the database, there is only one
string of four consecutive games in which a team
averaged more than six yards per rush in each game.
Name the team.

a) Rams (Steven Jackson)

b) Vikings (Adrian Peterson)

¢) Detroit Lions (Barry Sanders)

d) 49ers (Garrison Hearst)

e) Seahawks (Marshawn Lynch)

9. In the history of the database, there is one game
in which one team was awarded ten first downs via
their opponent’s penalty while their opponent had no
first downs via the penalty. Name the combatants.
a) 49ers and Raiders

b) Patriots and Dolphins

¢) Chiefs and Raiders

d) Browns and Bengals

e) Giants and Broncos

10. In the history of the database, what is the great
margin by which a team’s rushing first downs
exceeded their passing first downs in a single game?
a)9

b) 11

c) 13

d) 15

e) 17
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